
A{fr5{
?r{R{,rdcrk+- r+lTrqtdq

?tr
!.Rf€ztt : ?oql // oq?
qffi qrar :

lqfu:iocl/oY,,iY
!f{41

t-

(gErT rra+-g-frrftrd ffi 1oq17ov71v;

{q Ftrliqrqr ?{ri{E Eri ?oql ,/oq? ET qrfrr 3rr{s.ftF r-{ rparq q{i {qrfq-{+I
qrel{rlcl{ dqT '+{r ufr" rT;i ofiq t-{ ioql dr Eq-r q(.F) -drn }dqlTfi qt-{
iiqqr.rft 'oqy Er laaq lcrqst'd{ qkar {r ,+qdr q-{+Er'{frtqq 6r-i q-i ar fra1 gqf,ar
rRtwr { t{qinT Tpi rr;i tqa rqrq;F r fumq , 'rrt"d.r,d ffiar z'4r+ ffiot r qrT k*-f,r

FIqqlE4l -")'.( dI l+rq lcil .IT -,I1.q{T ?{q;) 4riliTrtiL,6l-tIIII 4II ;Elq14ilcn 4.T qf{d
atil elTi-.ri-s rlfr m-{<-I s_dt{T

tl< rar5i stft
tvqq wTrqffiq qfrr+-dlq@ iia qEIrE(EmT=

t q+qrq, r{i, {+qr (4iin qqTlr.r !T I lrgqmrrfr{eler#
i 6{ Tfft+T IIqTUI q-{ 

I

i t.{rfTq Frf,qT EqzwTzL/ sri,/ qrqT rai qr cla+r-"r rrdi T{rur c{ rx +qrfr qqr qEtrlql{)/{..:T.8" (tqr{r qnt?i g-qtqq{ 
r

{. (qm1T i1r rI<T qrlir Eai rI{ aaiflaql rr+r q+ffq q+qlil.frZFIIF+T

6f,.q[ Tq{T{ :-rrramnqrffi+rqi afrio q{ loqldi (FI ?o +rq qrqtr"r+ :rq-dr lt Fr
A q.io {crtqq E. {oot- Crpq f|iET Tfuq riqr{ ?15;I ri-d

hsq : qfr ftt .ri Tqkr q+;n r

'nvww.tu lsipurm un. gov.np/ne qlz qt-f, H<q+}

"6q 
ffi6a tsT rr.izT qr qfir r+rfgr< rri\.+i a r



(-

fi sq€ qer[{fi7{ 3IP'I+--'{ G{ I

aqfir fl-qarilT?qTh-47
q-,1r ar-'fiffirai q'rqf.{q' ztg

qd qft e qir E fcq q*dl t 
" 

u 11 x11"1;-"+ 
"*T1l 

#."o'"#['
aqflgrq{I :f"otui f47ru1 "{i{Tral 

qteqlg {1 ;

<ai a5 qt fce(q qeT ri,alq' 
**0,

r qt{fl {fi*] qrtr ma-c< H *"#ffi' t+qtur qffiFfi' ffnqr{rdl qI t-dl

q1 q@ 4fffi-fir {lrl :

*, fr6 'rir+rr< a

p rfcrr;T rqrsrq-rrcd k+tq
i, q* qr Fc +'Trrr qo'nrqi

rsr +wfi frqT qr+i ar qa afnaB az caian [ct.ilq-{

lr ar {ffI2il qqlrT{tr

;;o,,i"; 6qP a-a-<rf++ s-d'4 q-{

1 *.dqrffijm qffi*#*L*.tr rqM t+++t:

6) qlq-qrclq 3{TqT4 (

Y] ffiH ,6r+r net< Tl qTATi'
;, "* 

i* ' rtl-q t-drqi qqft g'aq{qt

f4q4-: d-{{r <-dt .rt crii I

HK

ftaqcor Erq:
6flte{{

F{a;IdN

rt
lq
TT

{g6{?;1'
?rTr4r
qzrqrr {c 6t[iT



qTFTR{Iqrn

+iqr+ft qrrlnTs rERInr< d.Ir hfuT),
Egd Tq?fr, E|{Eflr Tfl{ Ttr{,
q'rcm,4l i-sr,

crcf{+T arn Iq+E6
nq1 iqaqTi qq;Jr,

qsrft qrd{, 6i.r{ Eqccnz r qr-r, qzrqi {+d
I.q{r s;EreFr 441 plpq 6.fi
i{.{- qqF.ir qrqr .n trql, ,i.iT{-r q+r +,i.er+r, lrer, iqq dR,
qr{f-rg qq=& flqrq qft",
h-qiur dqT rrr?FFI fiqrfrts
qT}ffiI r[qa..T aE"r.
qTqFrg Aqf Eirqf zqzf€l1-[{,

lnl, r|}rql (.lT ilzlzr54r,
qI{{7I :lrfr?nr -iiigirJ,

iF.a{rq,T , q,qrFrg qrqT{JT, +i{4-4 fliz
9[6r-.rT qrql.l 5,

q Tirqst +{r dqr 3fq ffi
?Tqq 6. qfitm,
rf+.p+ qq="tf qr4q.I, r.qof +fl,
qrfeE, zqzpq,fF qq?fr 3{zq?T qrrqei i-o {qrqt q+sTffr-r{frrq
qq=fJ r,qqsf {4T qq-d

ter rrq qfrclq z terr ;q+.+qrq{ {E?.ft,iO

6 et{qr l./lwnsi

'(

t
3 7utrdT sffi qisrd

effira
W&

tc7I s-qrfiqg+I {qa'
E

q

1o

91

1i
1i

1{
t\

??

?i
'(

?{

lc
i1
io
i1

iY
i{

T4 qr}rr.4{r -riL4q;I, qF{,rqdt 3Irqq{, Elfrlq{[r Trltq garF{ ,jlIfu

q+rfr qr'+q, qziq qlgTqr 3Fr+1" TRT:q EZI

{}T ETTITTFI4{rr qqkn-jfiIIT;I
I@-r+q

g-.eca qfri€ sT.tTr{sr,

Corn uter Network er sE?fr,r ma nt arln IeC Serv

qdqfq-fi Frfr eT$Erft {q-.ft 9Tcatq szn

r+q kqiur e-di'i4Tq fr{Tfq;r, FdIr.,{,
rqr.f1 3T'a"T wrqsi +{rEkflzrflTI q{+TUI clTr erqFrS

qFq;eflqItr{i :{L4IFI eTC{IIIe-qj-d e?rq4

64'j qTiTrrrrd 
I {rllai qir.{i),

n;rerrm ,,ir.!ti +4r

t{-qi.T Erzr.trr7qrqrtft fi qinT stra{rr

e-4rd,adr+fl t{rivr,

$6ft1ys1s f{qtrr,

aqrfr :r*, qffirT qaa

sftiT{ aql ffi-{4{ qq-d,

F. {nf{+{ sffir3r. {urf,tr fq-€r r{TsFi fc gq
I5qFffi qIKI

.IT'4{ aq{Erfr { qq;laffJqrz
qqi.fr,

TIIFRITTffiI t[elr t{r vqfu ti-{rsr

1

I 4q.c-, .qrqaq,
qrr.I r idfl<

\?

1Y

'qLqq4,

i4I{FI

1\e

lr.

1?j

vq

ic

TTUT€R

14rqfdT,
tffimr

Electric Work qria
]IIkI,

q.



to

Y1

Yi r(?fqs qq?f,r d.{ ffi TrI{fr,

Mrr 6d
qr.,{rr ftiluftdr{ ?,IriE,

qq €{Erqrd( qftt qkE ncr 6r{
Yl
q

q;rqr+.q sEdI tsrq< q++r+rrq sid,
rqmmrri r+rrqa qqq=JtY{

YE rtfem vga +rrirq wr"fi qkqr, qr.rqrk+r ftrafs\r+r qrfd fli,
r-roa vr<,
qf-{..5TE Arn af+f+rur qe=.fi,

Ya, qqJa, q+.trr r qdzq qqa.fr,

Y1 416 ia+.r+ qqdi iqqq;t+ z g*qigr.rf,t rr+f,,
9,o Gr+.a t++rv re="tr

iqqd q{+EFrc qqF.ft{1

l++A tq="ff qrrtT;r 5 iqeT, 1r{r
ue=ft qpq-4 r +k r-+i6

Resolin qq=.ft

lder , dR, 4Ef{9

*

L

1T.


